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2H202 (aq) = 2H:0(l) + O2(a)

2% (Rate) = —A[A{ZtOZ
A2t (sec) [H202] (mol/L)

0 1.00
120 0.91
300 0.78
600 0.59
1200 0.37
1800 0.22
2400 0.13
3000 0.082
3600 0.050
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[Hocl] = M, [H0] = M, [Cl.O] = M
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[HOCI] = M, [H0] = M, [CIO] = M
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[HOCI] = M, [HOl = M, [CIO] = M
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[HOCI] = M, [HO] = M, [Cl0] = M
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8. [+82 H&(equilibrium)e o2 JIXl HSEO0ICH 11 HAYE9 0I150
O 240X EII0A Z2et Met (3x5=15F)
® A state of balance among a set of beliefs.

® When a chemical reaction proceeds at the same rate as its reverse
reaction, with no change in the amount of each compound.

® When internal processes of a system cause no overall change in
temperature or pressure.

® When the sum of the forces and moments on each particle of a
system is zero.

® When internal processes change gradually from one equilibrium state
to the next.

2]

(Physical Science) Thermodynamic equilibrium, Dynamic equilibrium,
Chemical equilibrium, Mechanical equilibrium, Quasistatic equilibrium
(Mathematics) Mathematical equilibrium

(Biological Science) Punctuated equilibrium

(Economics) Economic equilibrium, Static equilibrium
General equilibrium, Patterson equilibrium

(Game theory) Nash equilibrium

(Ethics) Reflective equilibrium

(economics),
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Fe3*(aq) + 6H,0(1) = Fe(H,0)s*"(aq)
CN(aq) + H,0(l) = HCN(aq) + OH(aq)

Hgly(s) +2I'(aq) < Hgl,*(aq)

Lewis acid, base ? Lewis acid, base ?
a| Fe® Hz0
b| CN H20
c| Hglz I~

1. 220 O K &2 O3S 20

(10+10=208)

2% (°C) Kw
0 114 x 107°
25 1.00 x 107
35 2,09 x 107"
40 2.92 x 107"
50 5.47 x 107"

(a) £ XAl Ol23t= g prSeIdt, &E g8l
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(b) 50°COIN =4 NS pH= LOtIIH?

pH =

Oed Xl &8 -
A2l AXtEF = 26.98 amu
Na2l RXtg = 22,99 amu

Hel &XtgF = 1.008 amu
02 |AX& = 16.00 amu

MgQl AKX = 24.31 amu
Cle) {XE = 35.45 amu

A39 =3 (AHws) = 6.02 kd/mol
R (OIMA4) = 0.08206 Leatm/(mol*K) = 8.314 J/(mol+K)

OFEJIE29] 4 (Avogadro's number), Na= 6.022x10%%/mol




